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STATISTICS
PART - |

PAPER :
MARKS: 68

TIME

Note:

2-

4-

.« 2:40 NHowrs

(Madel Paper AJK)
INTERMEDIATE

(SUBJECTIVE PART)
Attempt any TWENTY TWO (22) short que

Q.2 and Q. 3 each and six from Q. 4.

(22x2=44)

SECTION -1

Write short answers of any eight parts.

(2x8“—:l())

i | Differentiate between parameter ii | Define constant?
and statistic?
iii | Define primary Data? iv | Define Historigram? I
v | Define variance? vi | IfQ, = 50, Q3 =75 find Q.D
vii Lfi'%e;:e;?%s’:we =90,5.D =3 viii | If m{ =1 m; =3 Find variance.
ix | Define Skewness. x | Define vital Statistics?
xi | Define vital index? xii | Define crude death rate?
Write short answers of any eight parts. (2x8=16)
i | What are properties of good ii | 1f mean =40, median =36 Find
average? mode.
iii | Define Geometric mean? iv | Define mode?
v | Define Index Number? vi | Define weighted Index no?
vii | If Laspeyre’s Price I. N = 102, viii | If TP, =600, XP,q, =115
:’;asche's Price N = 105 Find Fisher Find Laspeyre’s Price I.N.
"ix | Define Link relative? x | Define interpolation?
xi | Define Argument? xii | Write down the Lagrange’s
Formula.
Write short answers of any six parts. (2x6=12)
F Define independent and ii |If y=5-2x, What is slope and
‘ dependent variable? intercept.
i | If bxy=-0.90 byx= -0.65.Find iv | Write down properties of
correlation coefficient?
v | Examples of Irregular variation? vi | Define Secular Trend?
vii | Define Time series. viii | Define Feasible solution?
ix | Define Convex?
(P.T.0)

stions in all selecting eight from
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(2)

SECTION - I

Note:- Attempt any three questions. (8 x3=24)
5. (a) For the following data Taking classes (04)
20-29 , 30-39 =eememmeee
28,54,45,44,43,59,53,74,36,58,22,52,65,53,51,72,65,39,24,30,60
Construct a Frequency Distribution.
(b) Find A.M and Mode. (04)
 Class 0-9 10-19 20-29 30-39 40-49
T 1 3 6 5 2
6- (a) Evaluate karl Pearson measure of Skewness. (04)
2000, 2030, 2100,2100, 2200, 2300
~(b)_Compute variance, S.D and C.V. (04)
I x 525 500 475 450 425 400 375
l f 24 35 46 37 47 34 22
7- (a) Find Fisher LN. Taking 2000 as base. (04)
Item 2000 2005
Price Quantity | Price Quantity |
A 2 50 10 40 H
B 3 10 8 5 ‘
C 4 5 4 5
(b) Find coefficient of correlation. (04)
X 6 4 1 1 3
6 1 4 3 1 !
8- (a) Fit2" degree parabola (04) ’ -
Year 2015 2016 2017 2018 2019 =
Values 12 11 9 8 7 |
i
(b) Compute G.R.Rand N.R.R (04) L
Age Group Female Pop. Live Probability ,
Female of Survival 4
Birth 1
5-19 165420 2663 0.95 _.
20-34 185620 20681 0.94 3
35-49 1956242 260506 0.96 ¢
50-65 1658960 204526 0.95 7
66— 80 1741000 123966 0.94 ¢
!
14
9- (a) Use Lagrange’s method to find f(10) (04) P
l X 3 5 9 13 )
[ f 7 20 35 49 :
(b) Graph the following systems. (04) i
Linear inequatities. !
x+2y22
4x-y24
(The End)
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2 ool NO. STATISTICS (OBJECTIVE) ol N,

wer sh _— .
: ,"“"‘//’] PART -1 (Model Paper AJK) l T —““J

f— (INTERMEDIATE)
ﬁ supdnt. Fictitious Roll No. (For Office Use) I Sign, Candidate
sTAﬂSTlCS (INTERMEDIATE)
(P ART -1) (Model Paper AJK) Marks : 17

. Time : 20 Minutes

(()ll.”{(ﬂTl\'E PART)
Note:- Write your Roll No. in space prov
will result in loss of marks. All questions are to be attempted.

1- Each question has four possible answers, Tick ( \j ) the correct answer. (17)
i

| 1 The quantity computed from Population is called. B
Parameter C Sample D Both Band C

ided. Over writing, cutting, using of lead pencil

3 \ The A.M of series 6,6,6,6...... is;

- 1

! ‘ A \ 36 l B . 12 c | None of these ‘ D l 6
; | 4 | 5" decileis equal to:
i \ A | 5" percentile l B | 50the percentile ‘ c | 3" quintile , D l None of these

PS5 \ The s€ond mean Moment is equal to:

%.i a] MmO [8] QD [c] variance B s.D
L Var(x) = 4 the V(x+5) =?
E Al s 8]  ®  fef ¢ o] o0
- 7 | S.Dis the square root of;
A ‘ Variance | B ‘ cv | C | Botha,b J D l None

8 | Index Numbers are expressed in;
Average | o | Botha,b l D I None

A I Percentage | B |
9 | If Laspeyre’s =324 Paasche’s = 144, then Fisher=

AT B o] ™ ¢ us [p] e
10 | The unit of correlation coefficient is;
Al Kg [B] Percent [C [ None existing | D [ None
11 | If byx>1 then bxy is;
Al <1 |B| >1 IC‘ =1 |D[ None
12 | A time series consist of at most components;
A | 2 B 3 c| 4 El 5
13 | The graph constructed for time series data is;
A l Pie chart |B' Histogram C| Historigram |D| None
14 | Fertility relates to;
A ] Birth rate | B I Death rate | C l Marriage rate I D l None
15 | If N.R.R >1, the population of a country;
A t Increase l B | Decrease I C l Zero I D l All of these
16 | Interpolation relates to;
F A ] Current ‘ B l Past | C | Future | D | None
17 | There are feasible solutions in the feasible region;
e 2 8] 4 [c] infinite (o] 6 |
(The End)
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MODEL PAPER(AJK SYLLABUS)

Class: 1st Year Time: 2:30 Hours

Subject: Principal of Accounting Total Marks: 80

{Sublective)
SECTION ~ |

Q2 | Write short answers of any flve parts.

 (2x5=10)

|| Define book keeplng ? I

What Is meant by Drawings?

What Is meant by personal A/C

Il | What Is meant by accounting Iv
equation?
v | Define Journal, vl | Define Ledger
vii | Explain Current A/C vill | Define bills of exchange.

ix | How many Parties are involved in a
Bills of exchange?

Q3 | Write short answers of any five parts.

(2x5=10)

I | What is meant by bank reconciliation i

What is meant by cash book?

statement.
iii | Explain capital Expenditure. iv | What Is meant by Revenue profit?
v | Explain capital receipts. vi | What Is meant by error of omission?

vii | What is meant by error of Principles? | viii

What is meant by Trading A/C?

Give any four examples of indirect expense.

SECTION-II
NOTE: ATTEMPT ANY THREE QUESTIONS FROM THE FOLLOWINGS : 10X2=20
Q.4 | Jan! Business started with cash Rs:20000/-

Feb! Bought goods from Shazad Rs:20000/-
March! Sold goods to Kamran Rs:6000/-

April! Received cash from Kamran Rs:3000/-
May! Paid cash Rs:320 to shazad.

June! Paid office rent Rs:1500/-

July! Bought Furniture for cash Rs:7500/-

Aug! Goods returned by Kamran Rs:500/-

Nov! Goods withdrawn by the propridor Rs:500
Received on account of commission Rs:1450/-

Qs

On 1st July 2020, Awais Sold goods to Wagqas for Rs:3000/- Awais draw a bill of Rs:3000/-
for 3 months Wagqas accepted the bill and return it to Awais. Awais endorsed the bill to
his creditor Danish. On the due date waqas could not meet his acceptance.

Required:—
Record the above transactions in the books of Awais, Wagas and Danish.

Q.6

From the following Particulars of Mr. Hamed Prepare bank reconciliation statement as
on march 31, 2020.

I Blance as per cash book. Rs: 8750/-

ii. Cheque issued but not presented for payment Rs:725/-

jii. Bank charger Rs.20 as collection for not entered in the Cash book.

iv. Interest on Investment Credited by the bank Rs:75 no yet entered in the cash

book.
A cheque for Rs:230/- deposited into the bank but dishonored & yet not

recorded in the cash book.
vi. Cheque Rs:970/- deposited into bank but not yet Credited by bank.

Q.7

The Following is the trail balance of muneeb enterprise as on march, 31, 2020 prepare
trading, profit & loss A/C and balance sheet, for above mentioned period

Details Debit Rs. Credit Rs.

Opening stock 4500 -

Purchases 175000 -

Carriage 7200 =
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Oct rol duty
Salaries 200 -
Trade debtors 185:0 :
Advertising Expense 12000 -
Sales Return 6000 -
Muneeb,s capital - 145600
Purchase Return - 134000
Trade Creditors - 35800
Bills Payable - 9500
Bullding - 11000
91200
335900 335900
Adjustments:-

1, closing stock is valued Rs:12500/-

2, Depreciate Building @ 15.P.A

3. Outstanding Salaries Rs:3000/-

4, Prepaid Advertising expense Rs:1000/-

Q.8

Do you consider the following to be Capital or Revenue items?

Carriage paid on goods purchased

An amount of Rs.1100 spent on painting a new factory.

Repair to a motor truck purchased second hand.

Expenditure on advertising.

Freight, Carriage & installation paid on new machine purchased.
Rs.1500/- was paid as compensation to an expenses employee.
The removal of stock from old works to new works coasted Rs.5000/-
Profit realized on Sale of investment.

Loss on sale of goods.

10. Legal expenses on purchase of land.

PNV AWNR

Q.9

Rectify the following errors:-
1. Purchase A/C was over added by Rs.200/-
2. Purchase furniture for Rs.5000/- was wrongly debited to purchases A/C.
3. Received from Qasim Rs.3000/- was wrongly Credited to Azam A/c.
4. Rs.400/- Paid as Salary to a clerk has been debited to his personal A/C.
5

. Asale of Rs.730/- to Ehsan has been entered in the sales book as Rs.370/-
6. Asale of Rs.1000/- had been entered through the purchase book. The customer

Rahim,s A/C was however Correctly debited.

7. Goods to the value of Rs.5000/- were returned by Shafiq bros were taken into

stock but not recorded in books.
8. Cash Rs.25320/- paid by Saeed was posted as Rs.23520/-
9. Commission received Rs.1200/- Credited to Sales A/C.
10. Purchase book was under added Rs.1000/-

THEEND
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MODEL PAPER OBJECTIVE(AJK SYLLABUS)

Class: 1st Year Time: 30 Minutes
subject: Principal of Accounting Total Marks: 20

Q-1: Note: Each question has four possible answers, choose the correct answer and

encircle It. Cutting or fllling two or more clrcle will result zero marks In that question.

1 | Any legal activity In which a person engage with the hope of making project

A|  Trade [B] industry | C | Business | D All of above

2 | purchase returns means

A Returnsinward | B | Returnoutward | C | Returns [D| Allof above

3 | Assets equal to

A Liabilities + B Liabilities + C Capltal + D Assets +
Capital Current assets Fixed Assets liabllitles

4 | Personal A/C related to

A Person, firms, B Assets A/C C Expense D | IncomeA/C

companies
5 | Debit the A/C of receiver and Credit the A/C of giver Is the rule of
A | PersonalA/C | B |  RealA/C__ | C | Nominal A/C | D | None of there
6 | The process of recording transaction in journal Is
A | Posting [ B | Journalizing | C [ Casting | D | Recording
7 | Journal has columns
A | Four [ B | Five [ c] Six [D]  Seven
8 | The book in which the classification of Accounts are made is called
A | Journal [ B | Trialbalance | C | ledger | D | Stockregister
9 | The right hand side of ledger A/C is called
A | DebitSide | B |  LeftSide | C | CreditSide | D | AssetSide
10 | Which A/C is Suitable for small savings
A Current A/C B Saving A/C (o Fixed D Foreign
: Deposit A/C Currency A/C
11 | The person who draws the bill is known as
A |  Drawee [ B | Drawer | C | Endorsee | D |  Payee
12 | Days of grace in bills of exchange are '
A | 2 [ B | 3 [ c] 5 [ D | 10
13 | Purchase Journal/ Book is maintained to record
A | Credit Purchases | B Cash Purchases | C Purchase D Sale of
Merchandise Merchandise
14 | The Debit balance of cash book means
A Cash at bank B | BankOverdraft | C | ZeroBalance | D | Unfavorable
balance
15 | Any expenditure which benefits only the current period is
A Capital B Current (o Revenue D Deffered
Expenditure Expenditure Expenditure Expenditure
16 | Capital expenditures are shown in
A Trading A/C B Cash flow (o Loss D | Balance sheet
Statement
17 | Error of omission don’t effect the agreement of
A | Income B Trial Balance (o Balance D Cash flow
Statement Sheet Statement
18 | The error which effects at least Two accounts is called.
A | Compensating B Error of C Double D | Single Sided
error Principles Sided error error
19 | Trading A/C Shows
A | GrossProfit | B | Grossloss | C [ NetProfit | D | Allof Above
20 | Discount Received is a
A Expense [ B | Income [C] Assets [D | Liability

THEEND

CamScanner
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TN

MODEL PAPER(AJK SYLLABUS)

Class: 1st Year
Subject: Computer Science

Time: 2:10 Hours
Total Marks: 60

(Subjective)
SECTION -1

Q2 | Write short answers of any six parts.

(Zx6=12)

What is computer?

What do you know about Notebook?

What do you know about Plotter?

v

aEE

Describe firmware.

Differentlate between SRAM and DRAM.

v Describe the role of registers in vi
computer?
vii | Define Blu-ray disk. vili | What is Open Offlce Base?
ix What do you know about Hyperlink?
Q 3 | Write short answers of any six parts. (2x6=12) \
i | What s the function of CU in ii | Define Memory Buffer Register(MBR).
computer? \
iii | Define system unit. iv | Differentiate between port and a slot. 4\
v | What s the role of BIOS in computer? vi | Describe a Network Interface Card. |
vii | Why cooling system is necessary in viii | Define Wireless Markup Language. \
system unit?
ix | what is Global Positioning System(GPS)? J
Q 4 | Write short answers of any six parts. (2x6=12) |
i | Define computer Network. ii | Differentiate between synchronous and \
Asynchronous transmission?
iii | Give two Examples of un-guided iv | Define Gateway. \
Media.
V | Write down any two advantages of vi | Briefly describe IP addressing. \
Ring Topology?
vii | Differentiate between LAN and WAN viii | Write down any Two disadvantages of Bus \
Topaclogy?
Ix | Define Circuit Switching. J
SECTION-II

NOTE: ATTEMPT ANY THREE QUESTIONS FROM THE FOLLOWINGS :

8X3=24

|
Q.5 | Define Microcomputer. Explain any Three Types of Microcomputers? \
Q.6 | What is Secondary Storage? Explain any Two types of Secondary Storage Devices? J
Q.7 | Explain different types of CPU instructions. Also give examples. J
Q.8 | Define Un-guided Media. Explain Different types of un-guided media, |
Q.9 | Explain the steps for designing Database. \

THEEND

CamScanner
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MODEL PAPER OBJECTIVE(AJK SYLLABUS)

st Year

el

class Time: 20 Minutes
subject: Computer Science Total Marks: 15
Q-1: Note: Each question has four possible answers, choose the correct answer and

encircle it. Cutting or filling two or more circle will result zero marks in that question.

1 | The output produced by printer is called:

Al ?Iam output | B | Softcopyoutput | C | Roughoutput | D | Hardcopy output
2 | The distance between the pixels on the monitor is called:

A | Size [ B | Resolution | C [ Dotpitch | D| DataRate
3 | Which of the following is NOT a secondary storage device?

A| Harddisk [ B | RAM [ ¢ [ TapeDrive | D | D
4 | Which of the following has the highest storage capacity?

A | cD [ B | Blueraydisk | C| DvD [D]| ZipDisk
5 | Which one is NOT known as Computer Memory?

A | DRAM | B | SRAM [c] FRAM [ D | EPROM
6 | How many op-codes do a Zero-Address instruction has?

A | 0 [ B | 1 [ c | 2 [D | 3
7 | Which of the following is a new technology cable for connecting storage drives to computer?

A | IDE . [ B | PCle [ c] FD [D] SATA
8 " Which of the following is the firmware built into the computer system?

A  Slot [ B | RAM [c] BloS [D] Port
9 | In which type of transmission data is transmitted one byte at a time?

A | Simplex [ B | Synchronous [c] Duplex |[D [ Asynchronous
10 | How many layers does TCP/IP model has?

A | 2 [ B | 4 [ c ] 7 [ D | 10
11 | Which of the following topology is most expensive to im plement?

A | Bus [ B | Star | € Tree |D|  Mesh
12 | The number of satellites used in GPS are: '

A | 20 [ B | 22 [ ¢ ] 24 [ D | 25
13 | Hierarchical DBMS organizes data elements into?

A Segments B Data c objects D Data units

compartments |

14 | Arow in a table is also knows as :

A | Column [ B [  Relation [c| Fed [D | Tuple
15 | Which of the following is logical data type?

A | Text [ B ] Memo [ C [ Auto number | D [ Yes/No

THEEND

CamScanner
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PAPER: PART-I
Subject: Mathematics

Note:- Attempt any TWENTY FIVE (2!
Q.3 cach and nine from Q.4.

i.

MODEL PAPER AJK SYLLABUS

(INTERMEDIATE)
Time: 2:30hrs

Subjective Type

SECTION-I
2. Write any answers to any EIGHT questions.
Simplify ()20,

il
iil.
iv,

V.

vi.

vii.
viii.

vii.

viii.

Xi.
Xii.

If Z € C then verify that ZZ = |Z|?.
Factorize p (z) into linear factors p (z) = 52243,

If Aand B are symmetric then prove that AB - BA is skew symmetric.

bc ca ab| |1 a* a?
Without evaluating, provethat| a b c|=|1 b? b3|.
a> b2 ¢l 11 ¢ ¢

0 2b -2
If A=[3 1 3 ] is symmetric, find the value of a and b.

3a 3 -1
Find the vector AB from the point A (-8, 3) to the point B (9, 5).

If A= 2i-j+3k and B=3i+2j-4k find |A — B|.

If a=5i-2j +7k and b =4£';j -3k then find a.b

Find the value of (kxJ) ._{+£‘._k

Solve the inequality and graph the solution set of-;—x -3>,0
Draw the graph of inequality 2x+y > 6.

Write any answers to any EIGHT questions.

How many terms are in the sequence 18, 24, 30,........, 618.
Sum a-3b,2a-5,3a-7b,...... to 40 terms.

If ajo =1, a3 =m, azg = n, show thatln = m?
Compute the sum 3+6+12+......+3.2% .

Find the sum 322, 3n.
Write in terms of factorial (n — 1)(n = 2) w....(n =7+ 1) .

How many eight —digit different numbers are possible using all of the
digits 1,1,1,1,2,2,3,4?

Prove that ¢l = cj—r
If A and B are mutually exclusive events, then P (AUB) =P (A) +P (B).

4 4 4 4 1,
Provethat-s-4—5—z-+-s?+ ........ +5—n—1-g;|strueforn-1,2.
3)17

Find the fifth term of (a + 2x
Compute V1.06 to five decimal places.

Marks: 80

(2x8 =16)

(2x8 =16)

5) short questions In all selecting eight Q.2 and
(25 » 2 =50) ’
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4. Write any answers to any NINE questions. (2x9 =18)

i.  Show that the function g: R = R defined by g(x) = 2x* + 1 Is neither
one-to-one nor onto .,

ii.  Find the inverse function of f(x) = 4 + V2x .
iii. ~ Show that sin 105° + cos 105° =cos45° ,

iv.  Find the exact value of mn(%) .

v. If sin@= 15—3 and terminal ray of 0 is in quad II then find cos20 .
vi.  Prove that cos(T+x) + cos(—x) = V2 cosx.

vii.  Use the law of cosines to prove 1 —cosa = ML;)(EM
viii.  Find the area of AABC where rr = 38° , b = 80ft,and a = 15ft.
ix. ProvethatR =— (with usual notations). )
X.  Find the domain of sec3x.
xi.  Find the period of - cot(w)
1
xii.  Find the value of Sin~ (tan 5.
xiii.  SolveSin 20 — Sin @ = 0; Find principal solutions.
SECTION-II

NOTE: - Attempt any three questions.
5(a)Ifz; and z; are 1 —i,—2 + 4i respectively findl,, (z‘ z).
Zy

(b) If A= [_21 3] verify that (4-1)t = (4)"1.

6 (a) Find the volume of tetrahedron with the points A (-1, 2,0), B (2,1,-3),C (1,0,1),D(3,-2,3) as
vertices?

. Sm am _ 2m-1
(b) If in an AP, S-=17 , show that — =

7 (a) Out of 7 consonants and 4 vowels, how mow many words can be made each containing 3
consonants and 2 vowels?

n(n+1)(2n+1)

(b) Prove that 12 + 22 + 3% +......... +n? = =

8 (a) Minimize Z = x + 2y
Subjectton+y_>_3,x+2y26,x+y20.

(b) Show that sin 56 + 2sin 30 + sinf = 4sin 36 cos?6 .
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g (a) Solve the triangle ABC, using the law of tangents
B=12.5 =23 and « =38°27 .
(b) Prove that cos™! A — cos™' B = cos~1(AB + VT = 42T = B%).

(THE END)
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MODEL PAPER AIK SYLLABUS 2022-23

MATHEMATICS PART-|

(INTERMIDIATE)
MA{HEMATICS (OBJECTIVE PART)

Qno.1: Each question has four possible answers, Tick (V) the correct answer.

L X(G+T)=

PART-|
TIME: 30MIN

A 15421 B. 15-21i C. -21415 D. 21-150
2. If A=[a”] matrix, then  ay Ay + ay,4,; + a3, =
A. det (A) B. At C. AdjA 0. A}
3. If|A] =7 then find |A*| =
A. 0 B. 7 c. -7 0. V7
4 Wu=2i+jandy=4i+2jthen|v-u|=
A 2i+] B. 5 c. V8 D. [2i4]
5. If @B,y are the directions angles of 7; then cos?a + cos?f3 + cos’y =
A. 1 B. -1 C. O D. 2
6. Ifa,b,carein G.P then b=
A. +Vab B. tvac c & D. ==
7. Domain of a sequence is
A. Z B. W C. N D. R
8. Ift,=6n+5thent,;; =
A. 6n-5 B. 6n+l1 C. 6n-11 D. 6n+6
Q. nt
(n=-r)!
A CRy B.P, c. Ct D. P?
10. If A and B are events such that P(A/B) = P(B/A) then
A. A< B but A#B B. P(A)=P(B) C. ANB=¢ D. A=B
11. Number of terms in the expansion of (a — b)° are
A. S B. 8 C. 10 D. 11
12. The binomial series convergent only if (1 4+ x)" is
A |r|>1 B. I[rl<1 C. |rl=1 D. |r|=0
13. Vertex of parabola f(x) = x2 + 1 isat.....
A. (1,0) B. (-1,0) C. (0,1) D. (0-1)
14. x = 0 is in the solution of inequality
A x<0 B. 2x+3<0 C. x+4<0 D. 2x+3> 0
15. 2sin20cos20 =
A. Cos4l B. -Sin40 C. Sin40 D. —Cos4f
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16. Cos(a + )+ cos(a — ) =

A. 2sinacosffi  B. 2sinasinfi C. 2cosucosf D. 2cosacosf
17. With usual notations r 1,13 =

<

A 4 B. 4% c. 2 D. =

r
18. COSE =

‘f_(s—_a) ’M s(s-¢) ab
A be - ac £ ab . 1’5(:—(:)

19.Sin™*(~3)

A T/, B. —T/g C. "y D. ="/4
20. 1f Cos@ = —% then the reference angle 8 =
A T, B. T/, c. "/ D. 37/4
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Biology (AJK T.B.B) ODbjective ToThL tdaveg '

Q. No. 1. Encircle the correct answer.

MODEL PAPER
HSSC Part-1,

In nucleosome, DNA strand wraps up around a group of small proteins called;

. A | Albumins ]T] Histones l »_(.‘NI ,,,,"j'_l[i!‘i’uf‘[“,_,_I,, Dl :;tv’j(_y_-x_l‘r;—_—_:
» [ The covalent bond between two monosaccharide is called; } S-S
1A Peptide bond | B ]l)isulphi(lc bond ]~(~‘1 diester bond | D I Glycosidic bond
3 In oxidative pathways, which one of the following role played by NAD?
i A | Inhibitor | B | Enzyme [ ¢ | Coenzyme [ D | Prosthetic
4 Which one of following process is used for the conversion of pyruric acid into glucose?
A | _Glycogenesis | B [ Glyconcogenesis | C | Glncogenesis | D | Gluconeogenesis
Which one of the following cycle dipends upon products of light reaction?
5 . i Citric acid I
A Calvin cycle B Kreb cycle C cyale D Urea cycle
Which one of following does not relate to AIDS?
°1 A | HeperTeells | B HAC c HIV D |t ey
- When four cocci are arranged in two planes, they are called;
A | Sarcina | B | Diplococcic | C | Tetrad | D | Staphylococci
8 Frequilaria is common example of;
Al Englenoids | B | Greenalgae | ¢ | Brown algae | D | Diatoms
9 True fruit develops from;
A | Ovary | B | Ovule | Cc | Stigma | D | Style
10 Which one of following is dominant generation in Bryophytes?
A | Gametophyte | B | Sporophyte | C | Bothaandb [ D | Noneofabove
1 Obelia belongs to phylum;
A | Porifera [ B] Coelentrata | C | Mollusca | D |  Arthropoda
12 Tube feet are characteristic feature of phylum;
A | Mollusca | B | Arcllnopoda | C [ Echinodermates | D | Porifera
Which one of following tissue is responsible for increase in width of the plant?
13 : . Intercalary ; .
A | Apicalmeristem | B " C | Epidermal cells | D | Lateral meristem
meristem
14 The length of large intestive is;
A | 1.5m | B | 2.5m [c] 35m | D] 4.5m
15 The heartbeat is initialted by;
A|l AVnode | B | SAnode | C [ BundleofHis | D | Purkinje fibres
16 Systolic prossure in adult man is;
A | 60mmofHg | B | 100mmofHg | C | 120mmofHg | D | 130mm of He
17 Which one of following WBC’s mature in thymus?

A | Monocytess | B | BCells | C | Phagocytes | D | Teells

(The End)
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MODEL PAPER(AJK SYLLABUS)

Class: 1st Year

Time: 2:10 Hours

Subject:Biology Total Marks: 68
(Subjective)
SECTION -1
Q2 | Write short answers of any eight parts. (2 x 8= 16)
i | Define Biochemistry. Give its il | Differentiate between amylose and
significance. amylopectin.
iii_| What are Terpenes? iv_| What s lock and Key model?
v__ | What are non-competitor inhibitors? vi | Define absorption spectrum of Pigment.
vii_| What is meant by photosystem? viii [ Define electron transport chain
ix | Differentiate between ostia and X | What are coral reefs?
osculum
Xi | What is pelage? Give its significance? Xii | What are placental mammals?
Q 3 | Write short answers of any eight parts. (2x 8 =16)
i | what are cristae li | what are thylakoids?
iii | whatis kelp? Iv | what are Diatoms?
v | Differentiate between micronuclei and Vi | Define alternation of generation.
macronuclei
vii | Differentiate between microphyll and viii | Differentiate between bicuspid and
megaphyll. tricuspid values. ] ’
Ix | Define blood pressure X | Define the role of B cells.
Xi | How natural killer cells play role in Xii | Define the term allergy. Give tis cause.
body’s defense.
Q4 | Write short answers of any six parts. (2x6=12)
i | What is prophage? li | What is Sarcina?
iii | What are lenticels? Iv | Define Solute potential
V | Define apoplast pathway. Vi | Differentiate between macro and
micronutrients in plants.
vii | Define the term nutrition. Viii | What is the function of salivary amylase?
Ix | What s ulcer? ]
SECTION-II

NOTE: ATTEMPT ANY THREE QUESTIONS FROM THE FOLLOWINGS :

8X3=24

Q.5 | Describe structure and function of Golgi apparatus.
Discuss roe of liver in human body.
Q.6 | Write note on acylglycerol.
Describe commercial importance of Fungi.
Q.7 | Give a detailed account of qrowth and reproduction in Bacteria.
Discuss structure and life cycle of Adiantum. '
Q.8 | Write a note on non-cyclic phosphorylates
Describe lytic cycle of bacteria phage.
Q.9 | Discuss effect of enzyme and subtract concentration on rate of enzyme action.

Write a note on pulmonary and systemic circulation.

The End
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